
    Page 1 of 2 

The Darkness  
Sometimes you just have to cast a spell at the darkness. 

Each crossword is a variant on a Black Box puzzle, where you need to find where the atoms are by seeing 

where beams enter and exit the grid, or whether they are absorbed or reflected.  Begin by solving the two 

grids:  
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 T S A L B O    

 N  N E E L A   

16 → E R G N I   A ← 5 

← 14 M O    I A S ← 6 

15 → E N D S  C K S 7 → 

14 → V E   A C S E ← 8 

13 → O U I  P I A T ← 9 

 M   T E R M S 10 → 
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5 
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 O   T P A D A ← 2 

16 → A I R  H C I R  

15 → S L A  I   C  

 I A L O M S I I  

 S L L A O T O H ← 6 

 D T E R C E A T ← 7 

14 → E N T H  L W O ← 8 

13 → A I S L E   G  

 
↑ 

12 
↑ 

11 
↑ 

10 
    

↑ 

9 
 

 

Then, overlay the monster locations from both days onto a single grid: 

          

 T         

   R    A   

   G  I   C  

     M I    

 S   S      

          

   I   L    

     E     

          

 

The answer is TRAGIC MISSILE. 


